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1. 18 3, 1948 il HYwh ISEUM &1 Igred fham

foram?
(A) oS U (B) IsTMUTATERY
(C) ft. &Y. &== (D) STaTgzeTe AgE  [D]

2. g 2011 F SFRUFTER IRy | (el fr =,
STef STEet d 2001-11 & &2Uah | ufaee aerhi
gfg, I A sitaa ufdeE sk gfEg @ oifde <,
2.

(A) 14 (B) 15

(c) 16 (D) 17 [c]
3. o Ruma & sre P st a1 At @ ur?

(A) THARTIOT ey (B) Tt TMuTe g/

(C) TR et (D) fasTafdis ufdes [c]
4.  ISTEU H WIGSHT T g TR 8 T §?

(A) Gemarar (B) Mg

(C) et (D) et fasigam [A]
5. YR (YeR) ATdT 1 AfRR gl f€4d 8?7

(A) ST (B) sTd

(C) IgrR (D) Y& A [D]
6. e v IoRU WRER & g+ fAURT ZRT SR iR

& Ffeqef g @i vgmfAg

(A) 3reTeR - aTer (B) ¥RAGR - IRY (h)

(C) sfteraret - AR (D) SR - e, [A]
7. ARG AIUSAAE -

(A) eht (B) ey

(C) sréRarét (D) dgemErd [c]
8. 'mw #gta O udest afdhe 1 agaygel wrfen

?.7

(A) amrs (B) FRaTeT-ARATS

(C)m= (D) Mear [c]
9. ngﬁ#mﬂaam?aﬁmtmmmfmﬁ?

(A) T TR B) FRAT Gk

(C) areEter ¥=Tom (D)E@ﬂ@@@m [c]
10. f=fefaa d 9w & o 82

(A) S (B) g

(C) ST (D) ¥jTeheit [B]
11. 'S UsR’ ISRYM & fha o A feya 82

(A) TSTEFHS (B) faigt

(C) sigarer (D) S=aqR [D]
12.  IoTEUTH AIfged R Snfeepret ¥ ST <l I WETHR 8-

(A) emeT (B) Rufd Are

(C) sramsd (D) sfier =me [A]
13. Wmaﬁ;ﬂmﬁmﬂsm@ﬂgﬁ%ﬁ?

A) TS AT ( )Eﬁmm?rm?ﬁma

(c)ﬁﬁmm D) MGaTs ¥ [c]
14. wmﬁaﬁwmmﬁauuﬂﬁgﬁmmﬁu

forega w5 gl

(A) TTe A9 ardiy faega e
(B) GRaTe gur fonfeaher amg faegd s

(C) =teT g a1 fagd s

(D) Beret R fehfearat aru fagga afkatsrn [c]
15. ‘ISRYUT ORI’ @R &RUl A AGArS HH HUT

Gote | K

(A) FTIE= i (B) Harm aed

(C) purm fafsar (D) 4. Imepuf 3rear [B]
16. ASTEUT H o UTest el dhgl hl UAF 82

(A) fperie (B) STetta=T

(C) srepter (D) SR [D]

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

gdf sy § Suai 8-

(A) =Tt (B) Azarst

(C) Mearst (D) gsmardt [A]

mﬂiﬁ?ﬂ%ﬁmﬁ#aﬁuﬂﬂmﬂﬁﬁ"
A) Sar g (B) di= &g

C)Eﬂ%’ﬁ%’ (D) gar &g [B]

U GY A IFTARR Aa FHH GO 8?2

(A) arg Uy (B )ﬁNUﬁ's‘w

(C) eirereret (D) &Sty [c]

Aqd’ ¥R & forg 3T & ugt SIret @2

(A) greit & (B) T &

(c)ad & (D) v H [C]

‘sraee dift & qafaer d fhoi ¥ g @ w=oma

e

(A) sracrer Eidt SR TeHTesmg 3

(B) sraeier Hi=f 3R glEmag R

(C) sraeere Eit orR dxaE gR R

(D) 3raeter it 3R SEiR 3 [B]

2011 &l SIOFT & IFER, IASTEAN H SEEAT

g foha=t &< fomar mam?

(A) 165 =af<h ufa et fomedft

(B) 200 =afwk ufa et foneft

(C) 324 =<k ufa ot fomedft

(D) 382 =afth ufa auf feret [B]

TSI | Ul TA-aiél Y gt gl foua g2

(A) sremonTs (TeRR) (B) gtenxor (SIeR)

(C) fours (g0) (D) merw (Fg1)  [D]

ST § "I1eAT fheAT' TUA hgl S1afeyd g2

(A) AT (B) TR
(C) prererTe (D) srererR [D]
ASTEYTE | 1985 H FAwehl ZRT TR UG ..ooveeceneene

o fagy urpfaes wRigz = o afdfaa forar mamn
(A) TR T I (B) TET 7S IRTARTT

(C) &= snERUg (D) haeea I Ia=
[D]

I 7T Wil & fag s st 82

VEISESIE (B) -t

(C) =t (D) TR [c]

a1} o smyuon i arepeft & forg wsTEuT F T
T Uk 8?

(A) gaTTe (B) ATUgRY

(C) @derm (D) SR [B]
39 gy &l gAY, e a3t gt o ard safdg
ZRT AYLMTATS Fars & 21

(A) SRR, IsoH, feceft, SR

(B) g, fereett, wegT, SeIgEG

(C) STOQR, AYRI, STIdTE, SR

(D) w2RT, I5ui, Reeht, saRa [D]
' T A TATHR g

A) g arad (B) 7i& RgrSt

(C) TR T (D) T=féig [D]
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30. f=ifera A @ 20 ) & gaffdes araum= #

sifera forar mami
(A) = (B) geTqR
(C) 3reter (D) et} [D]

31.  ISTEUT T AfAehier STy Wt SitHa W a@ |
I | tHier FuR &t Soft F smrar 21
(A) 250-300 (B) 200-250
(C) 450-500 (D) 150-200 [A]
32. . oy, foramge au Seif ReE flerd . w g

H|

(A) et (B) sRf¥igR

(C) =@t (D) etrr [C]
33. &I wv (e w@w) & g gg W &1 gafwior

foraa eaman -

(A) ToT I (B) 2o TW=ufdig

(C) zom IwifdE (D) Zrom SPTAfE [B]
34. 9 vid wis & T =gt Ivft wid ard A v s

g

(A) & (B) 9t

(C)gz@ra' (D) gt Rt [A]
35. peom A fohe TS Y TSTHERY oAi?

(A) IRaTS (B) #ars

(C) SR (D) R [B]
36. "@WRATA SIeIfd i 3 @ THE IaeT HRAl

8

(A) <TUTRRUTER (B) garuexT

(C) Srsart (D) ST [B]
37. SMgS 9T &l Ie@-- & 1953 & Tduuw fhask

e & gam?

(A) TR Tisrer (B) T T= 31T

(C) SmaTE T (D) srermhfdf =g [D]
38. WSTEU & o9 & gorim GE df€F @

gaffdes ufasra v a1

(A) AR (B) <

(C) sreTeR (D) sraqR [D]
39. WdgR &1 AT ToreyE & fha [Ad d wRar @2

(A) He= (B) 3reteR

(C) (D) JeagR [B]

40. ifge qa Agayef & 8

(A) aifemm & g (B) Ifgw & fag

(C) fafday & fag (D) STrifRTH & fow [B]
41. "SInffa: ek g ah” ST ol AlSd faumT 8-

(A) TrETfSiep =g U StfdrenTRar fasmT

(B) 3= frer favmr

(C) urfren frer fasymr

(D) afge srfderriRar Feme [D]
42. {9 AR Y ‘UITSE T AT’ hgd &7

(A) TR (B) TeTraTs

(C) SR (D) 3roTaR [c]
43. TEA-CT & U AU Garad fafaw g ad &

sifafafaq forar war ar?

(A) 1959 (B) 1953

(C) 1956 (D) 1994 [B]
44. af} g vrufaes Renea d g 85 et amwifera &.

a9 WReR R 39 faaea & fhaa sraauet &

wfipd Uz git?
(A)2 (B) 3
Q)4 (D)5 [B]

45,

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

fra aRalen @1 IB2a arfior &R A smuReE

gfaersit & w-fiefn o 82

(A) dt. Tg. IsStadT gierT (B) TY.09.31M8.179.

(C) $-umE=RS (D) T st [c]
RTE ifafSas 2009 fir urT 27 & IgaR fAerw wt
A= d 9 forg &rf & 78 s sem-

(A) &g auffg ST (B) grra sk

(C) smmuer Agd st (D) uew wiferat siferam [C]
oY # SR @eft, ot g & A el F ur
fA=afafaa 9 @ frg @ gefRaa @2

(A) sferent frem

(B) fre S #iet & g oft anfie apgem

(C) fareraraif ot AR Iuctsy AT

(D) =ITuaT ==l <t yRaR @ AT [D]
ufdrars gar guadfeerT 2022 & wmT & T« RAigrd
et fhe guaRe sde | 2 82

(A) wteTr thes (2fe ge)  (B) 100 HieR g

(C) el e (D) =t g [A]

ISR RTE A 2011 & vE@gsi & SIER
frenera e gte | A & @ fF9 gt &
4T fTaTh 82

(A) F&TER AR UTeRkhel

(B) StfaR<h frerent ht TasaerdIfaR ST

(C) adfar sifafR<h fo<ita smasaenar

(D) ¥ @ral & sifea [D]
"eie= @1 POSDCORB &1 T fahe=t far?

(A) &7 e = (B) S1=2R 1ferer wd 3ffer 7
(C) Sifsf 3R, &4 = (D) o=, &t 3fewa  [B]

ToreyE it onfde weftam 2021-22 & SrgER
RAamr, 2021 & Tsa & Snfeq & (gdsife g
fAsft) & deyEl A fras @t 6t fRaifSa forar mn

gl
(A) 14.05 ar@ (B) 14.11 &r@
(C) 13.92 ar@ (D) 14.08 ar@ [B]

giorT, [AEd TN AR gRT Ffva wd v
§T U 1 W 2 g Fud d F Feradr &
uraT fohar mar §, 98 &-

(A) Tt arftoT SrrehifaenT fARE

(B) T w3it wresft s

(€) wrsfia wich pues w2t e aten

(D) ik FRET AT [c]
FFHTE Helead 2022 & R ufvsd fAsig wg 3
i o ogfer & <fi?

(A) frerR i (B) Hig=<fion

(C) e &ht (D) srigdt [B]
frerr o1 Sifderk srfafamw, 2009 & fora sreamg #
frerera wa fAarent 6 fSmter or qofa 82

(A) st | (B) sreara 11

(C) sreamy 111 (D) 3reama IV [D]
AT # foha? ¥ fRAmm &= &2

(A) 28 (B) 34

(C) 42 (D) 45 [C]
$-Tofla-t gafRa g -

(A) Tefepfer (B) Efleraerea=

D) ¢<ft T} [B]
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57. iz widht aedt AR TRE e @ urew g ot

(A) 19 RawR, 2022 (B) 29 faw=r, 2022

() 9 fRAaw=r, 2022 (D) 7 Rawr, 2022 [C]
58. w=g w3t RS e dftmn gt arg &

(A) 1 smiet, 2022 & (B) 1 3iaT, 2021 @

(C) 148, 2021 & (D) 173, 2022 @ [c]

59. IeRYM & S¥hr et § geg w50t g« mue

Yo & dga gy faazor forar srar 81

(A) et 1 @ 9di g & faenfal &t

(B) e 5 @ 10 der o forenfat ot

(C) e 1 & 8t der <k faenfdal =t

(D) @rem 5 & 84t dah o faenfat et [c]
60. IR AT TS & AT @8-

(A) fterarer & (B) SriTarsT &

(C) SeaqR & (D) s & [D]

61. S dfayer SRemge gRT R R d A Frdferal &Y

(A) Togde (B) ST

(C) shrogele (D) deggdie . [A]
62. arR wifga T CAER@e TwgrT 8, <1ar sht

mfa< &g sht o<t dona o= & 997 36 o, a8

fae

(A) sfierarer & (B) sgrTTg &

(C) gz (D) SR # [A]

63. TE WAl AY IUNT WieHTgA G & It Adie
el Y TUTgAT g fhaft AfA a1 srgerfAa o

IqAY HIIT ST 82
(A) 10 FRI= (B) ¥7 ot
(C) 35 wts (D) 72 ¥s [A]

64. frfafaa # @ fFY 'deaia’ & &3 d & afe

QRERR 2017-18 ver= forar mar?

(A) IS HAR SR (B) w8 AR M

(c) M fEiE (D) e st [c]
65. MR-HifQs darA A8

(A) gravra (B) 3ff=t & gwuch

(C) a1 (D) g1t & geehd [c]

66. Read the passage carefully and answer the

question that follow.

We all want to live well, and when it is time. die
well too. This is the essence of most human
aspirations, within this, much, if not most, of
human endeavour is dedicated to living well and
the outcome reflects it. Humans have achieved
much in terms of living well We have managed
to acquire more comfort and convenience than
any other generation in the past. However, when
it comes to dying well. it cannot be said that we

die in any way better than our ancestor
All human efforts are dedicated to -

(A) living well (B) dying well

(C) travelling (D) exploring [A]
67. The synonym of the word 'confess’ is-

(A) refuse (B) decline

(C) admit (D) deny [c]

Read the following passage and answer the

question nos. (68 and 69 in)

I worked for a brief while in a college in Delhi,
and among my more uncomfortable memories
is a language exercise, I gave a group of eight

68.

69.

70.

71.

72.

73.

undergraduates: I asked them to imagine that
they had already graduated and wanted them to
write an application for a suitable job. Seven of
the eight students wrote applications for the
jobs of clerks. Even in one of the good
universities, and in a college that had a
reputation for its academic standards, the
system had (snuffed out all youthful ambition.
Even the highest youthful ambition in the
prestigious colleges is to pass the competitive
examination for  appointments in the
administrative services, and there are colleges
that are more proud of the bureaucrats among
their alumni than of any scholars, scientists or
leaders of opinion. And these latter,
understandably, are a small number. Students
derive the meanness of their ambitions from the
meanness of the goals that the colleges propose
to themselves. And of the most ambitious, as
well as of the least, among the students, it could
be said that they think more of what society will
do to or for them, than of what they would be
able to do for and to society. This is an excellent
apprenticeship for joining the ranks of hirelings
or of the unemployed.

What according to the writer is the highest
youthful ambition in the best colleges?

(A) to become a scholar

(B) to become a scientist

(C) to become doctors and engineers

(D) to become a bureaucrat [D]
Snuffed out means:

(A) encouraged (B) urged

(C) killed (D) instilled [C]
Choose the appropriate modal as per the
concept in bracket to fill in the blank.

L........ be sixteen on Monday. (Simple futurity)
(A) Can (B) should

(C) ought to (D) shall [D]
Choose the correct one-word substitution for
the given phrase:

A person who thinks of only himself.

(A) Egoist

(B) Proud

(C) Eccentric

(D) Boaster [A]
Choose the correct phonetic transcription of
the given word from the options that follow:

“apple’
(A)|aepl | (B) | e'pal |
(C) | elpl | (D) | apl [A]

Choose the correct passive voice of the given
sentence from the options that follow :

Does she speak English?

(A) Was English spoken by her?

(B) Has English been spoken by her?

(C) Is English spoken by her?

(D) Had English been spoken by her? [C]
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74. Choose the correct indirect speech of the

given sentence from the options that follow:
He said to me, "How is your mother?"

(A) He asked me how my mother is.

(B) He said to me how your mother was.

(C) He asked me how my mother was.

(D) He asked me how was my mother. [C]

75. Choose the correct form of the verb in

brackets from the options that follow :

I (meet) him yesterday.

(A) met (B) have met

(C) would meet (D) might meet [A]

76. Change the following sentence into active

voice from the options given below :

He was accused of theft.

(A) People accuse him of theft.

(B) People accused him of theft.

(C) Theft accused to him.

(D) People accused of theft. [B]

77. Identify the correct part of speech of the
underlined word, choosing from the options

that follow :

It rained heavily.

(A) Adverb (B) Adjective

(C) Preposition (D) Verb [D]

78. Choose the correct word that matches the
given phonetic transcription from the options

that follow:"

[keU1d/

(A) cold (B) culled

(C) called (D) cooled [A]

79. Choose the correct option for the following

incorrect sentence.

If it rains, I would not go to the park.

(A) I was not going to the park if it rains.

(B) I would not be going to the park if it rains.

(C) Ishould not go to the park if it rains.

(D) If it rains, I will not go to the park.  [D]
80. Choose the correct option.

"The sun smiled down on the flowers and the

light danced on them" is an example of:
(A) oxymoron (B) irony
(C) personification (D) sarcasm [C]

81. Choose the correct form of indirect narration

for the given sentence:

He said, "I am a student".

(A) He says that he is a student.

(B) He said that he was a student.

(C) He said that he is a student.

(D) He says that he was a student. [B]

82. Read the following poem and answer the

question that follows it :

When God at first made Man,

Having a glass of blessings standing by:
Let us (said He) pour on him all we can:
Let the world's riches, which dispersed lie,
Contract into a span.

So strength first made a way;

Then beauty flow'd, then wisdom, honour,

pleasure:

83.

84.

85.

86.

87.

88.

89.

90.

When almost all was out, God made a stay,
Perceiving that alone, of all His treasure,

Rest in the bottom lay.

For if I should (said He)

Bestow this jewel also on my creature,

He would adore my gifts instead of me,

And rest in Nature, not the God of Nature:

So both should losers be

Yet let him keep the rest,

But keep them with repining restlessness:

Let him be rich and weary, that at least,

If goodness lead him not, yet weariness

May toss him to my breast.

What did God pour on man?

(A) Curses (B) Problems

(C) Blessings (D) Rest [C]
Choose the correct antonym of the given
word from the options that follow :

Calm
(A) tranquil (B) serene
(C) unperturbed (D) disturbed [D]

Choose the correct option to fill in the blank:
He cut the apple....... a knife.

(A) with (B) by

(C) through (D) in [A]
Fill in the blank with the correct option:

Her father accompanied by all her
uncles.....late.
(A) were (B) was

(C) have been (D) have arrived [B]
Identify the proper noun in the following
sentence from the options given below.
Jaysingh was a brave king.

(A) Jaysingh (B) brave-Ads

(C) was (D) king [A]
In the sentence given below, the underlined
phrasal verb means:

You should allow for delays when planning a
journey.

(A) exclude something in a plan or calculation

(B) include something in a plan or calculation
(C) to make a mathematical total

(D) withdraw your plans and proposals [B]
Choose the correct form of active voice from
the options, for the given sentence:

I was invited to the party by him.

(A) He invited me to the party.

(B) He invited me to go to the party.

(C)Iam told to go to the party.

(D) I was instructed to go to the party. [A]
Choose the correct modal to fill in the blank:
He........ not enter my house again. (Command)
(B) would

(D) shall [D]
Choose the correct assertive form of the
given sentence from the options that follow:
What a fool you are!

(A) You are foolish.

(B) None but you are a fool.

(C) You are a great fool.

(D) You are more or less a fool [D]
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91. Fillin the blank with the correct option:

Bread and butter...... good for health.

(A) is (B) are

(C) were (D) have been [A]
92. Choose the correct option.

Which one of the following is a feature of an

Ode?

(A) sarcastic style

(B) comic style

(C) elevated style

(D) epic technique [D]
93. Choose the correct meaning of "Strike while

the iron is hot" from the given options :

(A) to be ready to fight

(B) to take advantage of an opportunity as

soon as it exists

(C) to hit at someone

(D) to respond angrily [B]
94. Identify the noun clause) in the following
sentence:

That you have come, pleases me.

(A) A you have come

(B) that you have come

(C) pleases me

(D) you have come pleases me [B]
95. Read the poem carefully and answer the

question that follow:

Freedom is the right to do

Anything that pleases you

As long as you keep in sight

the others also have a right

Have you the right to kill a cat?

Oh no! it is wrong, just consider that

The cat has the right to live like you

so remember that it is certainly wrong

to deprive a nightingale its song

to cheat the poor people, as rich men do

to rob the innocent, as robbers do

What is freedom?

(A) the right to break law.

(B) the right to do as one pleases

(C) the right to violate any rule x

(D) to cheat. [B]
96. Choose the correct direct speech of the given

sentence from the options that follow:

The teacher said that oil floats on water.

(A) The teacher said, "Oil floats on water".

(B) The teacher says, "Oil floats on water."

(C) The teacher said, "Oil floated on water".

(D) The teacher says, "Oil floated on water".[A]
97. Fill in the blank with the correct form of the

verb given in bracket.

Choose from the options that follow :

It's time you.....(go) to bed. ar

(A) have gone (B) had gone

(C) went (D) are going [c]
98. Choose the correct direct speech of the given

sentence from the options that follow

She says that Tom is a doctor.

929.

100.

101.

102.

103.

104.

105.

106.

107.

(A) She said, "Tom is a doctor".

(B) She says, "Tom was a doctor".

(C) She said, "Tom was a doctor".

(D) She says, "Tom is a doctor". [D]
Choose the correct answer from the given
options to identify the underlined part of the
sentence.

Where he Lives is not Known.

(A) adjective clause  (B) adverb clause

(C) noun clause

(D) independent clause [C]
Choose the correct antonym of the given
word from the options that follow.

Criticise
(A) commend (B) blame
(C) condemn (D) censure [A]

Choose the correct answer from the given
options to identify the underlined part of the
sentence:

I'lIl do it when I please.

(A) Adjective Clause  (B) Adverb Clause

(C) Noun Clause (D) Prepositional Phrase
[B]

Choose the correct option to fill in the blank:

What is the time your watch?

(A)in (B) by

(C)on (D) over [B]

Choose the correct option to replace the
underlined part of the sentence from the
given options:

Glass is hard but easily broken.

(A) delicate (B) soft

(C) transparent (D) brittle [D]
Identify the correct form of tense in the
underlined part of the given sentence:

When I arrived, Tom was talking on the
phone.

(A) Past continuous

(B) Past perfect

(C) Present continuous

D)

(D) Present perfect continuous [A]
Choose the correct modal auxiliary.
You.......c.... pay a little more attention to your

appearance. (To express a degree of
dissatisfaction and reproach)

(A) would (B) can

(C) may (D) might [D]
Choose the correct tense of the verb in
bracket the options that follow:

You (pass) the exam, if you had studied hard.
(A) will have passed  (B) had passed

(C) shall have passed

(D) would have passed [D]
Choose the correct synonymof the given word
from the options that follow:

Reckless
(A) concerned (B) cautious
(C) careless (D) punctual [c]
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108.

109.

110.

111.

112.

113.

114.

115.

116.

Choose the correct option:

Which one of the following is not feature of
the Sonnet?

(A) It has fourteen lines.

(B) It is never written in lambic pentameter.
(C) Itis a lyric poem.

(D) It may have an octave and sestet. [B]
Choose the correct phrasal verb to fill in the
bank:

We must expenses, or we'll be getting
into debt.

(A) cut upon (B) cutin

(C) cut down (D) cut off [c]

Identify the underlined part of speech in the
following sentence:

A thing of beauty is a joy forever.

(A) Noun

(B) Adjective

(C) Adverb

(D) verb [A]
Choose the correct tense of the verb in
bracket from the options that follow :

If I were you, I (buy) a car,

(A) will buy (B) should buy

(C) bought (D) shall buy [B]
Choose the correct option for the given
phonetic transcription from the options that
follow

[si:/

(A) she

(B) only see

(C) both see and sea

(D) only sea [c]
Choose the correct active voice of the given
sentence from the options that follow:

The man wasn't given money by her.

(A) She hadn't given money to the man.

(B) Money wasn't given to man by her.

(C) She isn't giving money to man.

(D) She didn't give money to the man.  [D]
Fill in the blank with the correct option:

Stop Tell me what really happened.
(A) beating in the bush

(B) beating round the bush

(C) beating about the bush

(D) beating around the bush [D]
Choose the correct part of speech of the
underlined word of the following sentence
from the options given below.

They arrived soon after.

(A) Preposition

(B) Conjuction

(C) Adverb

(D) Adjective [c]
Choose the correct one-word substitution for
the following:

A story or picture that can be interpreted to
reveal a hidden meaning trpically a moral or
political one.

117.

118.

119.

120.

121.

122.

123.

124.

(A) Farce (B) Allegory

(C) Mock-epic (D) Satire [B]
Choose a verb in agreement with its subject
in the following sentence:

Politics .......... With him the business of his
life.

(A) were (B) was

(C) have been (D) has [B]
Choose the correct option to fill in the blank:
An amendment has been made........... The bill.
(A) for (B) on

(C)in (D) to [D]

Choose the correct compound from of the

given sentence from the options that follow:

Seeing a bear coming he lay on the groud.

(A) Seeind a bear coming and so he lay on the

ground.

(B) He was lying on the ground as he saw the

bear.

(C) He saw a bear and lay on the ground.

(D) The bear having come he lay on the ground.
[c]

Fill in the blank with in correct option.

Not one of the lectures ................ Interesting.
(A) is (B) are
(C) were (D) have been [A]

Choose the correct meaning of the given
idiom from the option that follow:

Turn a blind eye meand to?

(A) refuse to acknowledge a known truth.

(B) be open eyed.

(C) see with naked eye.

(D) be really blind. [A]
Change the following sentence into active
voice from the option given below:

My pocket has been picked?

(A) Someone will have picked my pocket.

(B) I Picked my pocket.

(C) Someone has picked my pocket.

(D) Someone had picked my pocket. [C]
Choose the correct phrasal verb for the
undelined word from the options that follow:
The chief guest distributed the prizes?

(A) gave in (B) gave out

(C) gave over (D) gave away [D]
Choose the correct exclamatory from of the
given sentence from the options that follow:
It is very sad that poor Bimla is dead.

(A) Ho ! Ho ! poor Bimla is dead.

(B) Hurrah, poor Bimla is dead.

(C) Wow, Bimla is dead.

(D) Alas, poor Bimla is dead. [D]
Answer the question on the basis of your
reading or the poem:

I left a Funeral, in my Brain,

And Mourners to and fro

Kept treading - treading - till it seemed

That sense was breaking through

And when they all were seated

A service like a Drum
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Kept beating - beating - till I thought

My mind was going numb -

And then I heard them lift a Box

And creak across my soul

With those same boots of lead again

Then space began to toll

As all the Heavens were a Bell

And Being but and Ear

And I and Silence Some strange Race

Wrecked Solitary here

And then a Plank in Reason broke

And I dropped down and down.

Identify the figure of speech in the line:

Then space began to toll?

(A) Metaphor (B) Alliteration

(C) Personification (D) Satire [c]

Which one of the following is not true of the

Audio-lingual method?

(A) Explicit grammar rules are provided.

(B) Not even a single word of student’s native

language is used.

(C) Sometimes the teache acts out of the

dialogue.

(D) The teacher presents a dialogue which

student repeat and eventually memorize.  [A]

The major weakness of the Communicative

Language Teaching (CLT)?

(A) Pair and group work build

confidence and learning is interesting.

(B) Learners acquire fluence and accuracy.

(C) Learners get sufficient opportunities to

practice language through tasks.

(D) Teacher’s involvement in teaching is less.
[D]

Which of the following is not applicable of the

demerits of bilingual method.

(A) If the teacher fails to understand thid method

there is a danger of making this method into

translation method.

(B) There is every chance to get confused while

differentiating the feachers of the Ly and Foreign

language.

(C) Learners may not rely more on their L;.

(D) The teacher must be fluent in L, and L;

also. [D]

Which of the following priciples not included

The principles of Bilingual method.

(A) Meaning of new word, phrases, idioms,

sentence and grammatical rules is conveed

through L in the initial stage of the Lesson.

(B) Pattern practice is given only in English.

(C) L1 is used only by the teacher to explain

vocabulary and phrases.

(D) L, is used only by the students to explain

vocabulary and phrases. [D]

Which one is not included in the important of

CCE (Continuous, Comprehensive

Evaluation)?

learners

131.

132.

133.

134.

135.

136.

(A) CCE reduces stress and anxiety of children

and adolescent during the examination.

(B) It reduced dropout rate as there will be less

fear and anxiety related to performance.

(C) Learners do not develop concept clarity.

(D) It promotes holistic development of the

personality of learners. [C]

Who has intoroduced the CCE (Continous

Comprehensive Evaluation) system?

(A) CBSE (Central Board of Secondary

Education)

(B) NCTE (National Council of Teacher Education)

(C) RBSE (Rajasthan Board of Secondary

Education)

(D) UGC (University Grants Commission) [A]

Which one of the following statement is not

correct / true with regard to Audio-lingual

method?

(A) Language is not for Communication.

(B) Language in learnt contestually.

(C) Language is learnt using the natural order-

listening, speaking, regarding and writing.

(D) Repetition and drilling are common as

language learning is part of the habit statement.
[A]

Which one of the following is not true of

communicative Language Teaching (CLT)?

(A) The most important goal of CLT is to enable

the learners to communicate in the target

language.

(B) This approach uses a text book to teach

English language.

(C) Language learners in CLT learn and practice

English through interaction one another teacher.

(D) Learners talk about personal experiences

with peers and teachers teach topic which

encourages language skills related to various

situation. [B]

Which one of the following is not the type of

tests?

(A) Aptitude test (B) Attitude test

(C) Proficiency test (D) Achievement test [B]

Which of the following statement is correct

woth regard to audio-lingual method?

(A) Vocabulary first then grammar structures are

taught.

(B) First using examples then rules are taught.

(C) Erros are not corrected immediately.

(D) Teachers are the role models of language

uses. [D]
aeTeh A =fvhea AUA & v R fhe & TTeteRl &
TETeter UET0T g T AT R @ uT?

(A) 310 ad (B)0 &2 ad

()11 314 a9 (D) 15 18 a¥ [A]
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139.

140.
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144.
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fAeafafaa & @ s=ar fEdaes vaas ad &2

(A) s (B) usiEr

(C) sforgt (D) &= [A]
Tehed UATH 1 a1 fAam gwaf-aa &2

(A) gefamr} it @ (B) oreTeh T, g7 &

(C) . Th. TR I (D) qoer sogxT & [A]

gad MSR & ag gfL, Taurma, IR quT i &t
3fa a6 @ gar s ve ufafehar A hY e

(A) SiqRreafhe (B) siqaafhes

(C) arfen (D) Tepfararét [B]
ifAerfAa sifdnm fAfaf@a o @ frg R s
8?

(A) foramaga sigeaa (B) 89 Rigra

(C) T=Tee arfemm (D) RFRIE egeed [A]

dcuRdr &1 aw, S &1 Aaw vd uvma o Raw
fAeafafea # 9 faa sifevm Riga 9 gafda @2

(A) wars g Ffe (B) ety srgsie

(C) TmEfSiep Siferme (D) Ticha srfermy [A]
IATERYT # & 9T I1gT ded T 9 & =gl =af<s &l
SHe 3R A & Iug @ yaifaq forar 81 ag sy=
?

87

(A) S SR AT (B) g=ad =1

(C) STIg-Blivs &l (D) =y sfSag ot [B]
foret Twen & g SR STeRT-SIerT ST & 91y
A Y &HAT Tah ... & wrufe fagtvar @2
(A) s sTetah (B) got-ITeHeh aTeleh

(C) SMTcHchf~<d sTeteh (D) g dfiea et [B]
ad 1994 # gfg 1 utd (PASS) Afes &1 fageiaor
fora= foram?

(A) 3 goft (B) Step ATTARY

(C) fersit (D) St.dY. g [A]

e fAf@renr oram fRenfRfal i fafa== sifnm Aot
& F=qee e & forg Afdeagef wraf w1 gt weed
BITE e g yafaqa &2

(A) gt & Afde g & Rgra

(B) TSR & wg 9fS; g

(C) argmicTreh! o FMTfSIch-Hikepide g

(D) frarst & daHTcH ™ & g [B]

146.

147.

148.

1409.

150.

USSD ZRT & S areft darg?

1. M-Pin S&a=T 2. OTP S¥RE AT

3. hr T

(A) Fae 1 (B) 1R 2

(C)23R3 (D) &haet 3 [B]
fre oo R a1E Siiee g AT peR fie gia 82

(A) Shaet UYUH Jt8 R (B) oharet S1f=d gs8 ™R

(C) haet denfelieh gss R (D) uedeh gta R [D]
Morris AT & & fohdent ITER0T 22

(A) ar (B) TEadmR

(C) gier (D) hraRaret [A]
UegW UR FFER ... nfa 82

(A) 4.4 PF (B) 5.4 PF

(C) 6.8 PF (D) 7.5 PF [C]
T TE A 82

(A) fasTSH - ATt - SThIERM - ST

(B) 3eT - =AM - Afeter - fasTSw

(C) fasTSH - S=thidRM - Afetst - STeT

(D) e - fasTey - ShiHRA - Afetst [B]
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